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And what does Rebbi do with, ‘and he will go out on the Yovail year’

Overview

3" and ¥"1 interpret the P09 of! 131 9217 nIwa XY 7982 YR XD XY, to mean that
if he is not 779%2 PR\ (either 2"71°7% 0°217p or ¥"1? 0°nR), but rather he is redeemed
by a non-12X (3% 2K or ¥"% 0°217P) he must continue to serve until 22v.
However, according to >3 who utilizes this 1982 to teach us that X1 X1 K17 7782
wwa 9821, what does 921°77 n1wa X¥ teach us.? Mooin clarifies this question.
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The X713 is not asking, what the 2102 means, for we need the 1o to teach us that

the »121% 791377 72v, does not leave from the mastery of the >332 until %2 -
:92910 MY 7Y SRIINN XIPA 2915 NN YA1N NIYA VPI INNPN YA 991 NIN

Rather this is what the X713 is asking; why does the 7105 need to mention again
that he goes free 2157 nawsa, for it is written previously in another o5 that the
reckoning is %2157 niw Tv.

Summary
Why, according to °27, is it necessary for the 105 to tell us twice that a >121% on1 is

537193 KXY,

Thinking it over
1. The P05 needed to state 7782 PR3 X2 oX), according to "2, to teach us that 11X

wwa PR once it started saying 79X DR XY OX), it (seemingly) needed to conclude

191,75 (972) "P.

2 >31 maintains that in all cases, whether it was 22179 N21R3 or 271X N, the 72y is freed immediately, so what does
92177 NIwa XY teach us.

3 One may have thought that the X3 is asking, according to ¥" 3" the 7109 is teaching that certain 072y who are
9831 (whether 2"7"1% 0°90R "V or ¥"1% °217p "Y) need to work even after they are redeemed until 72v. However
according to °27 that no 72y is required to work after he is redeemed (see footnote # 2), so what does the 105 mean
with 9217 w32 R¥M, when seemingly he goes free as soon as he is redeemed?! M2oIn rejects this question.

4 The 09 is understood quite clearly according to *27 that if 77&2 23 85, the 72v was not redeemed (whether by 2°21p
or 0°7nR), he needs to serve the *751 until 921°. What is the s'kn3 question?!

5> The p10d in 1,75 (772) X1 (which deals with a 7217 19m3) states that 217 naw 7v 12 11oma Nawn NP av awm' [that
if the 72y wants to redeem himself, the calculation is based on the time remaining till 921°], indicating that his term of
servitude is only until 727, so we know already from that P10 that a 1217 7511 works only until 921, why add here (a
second time) 7217 niwa XX, See ‘Thinking it over’ # 1 (&2).
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22177 n1wa X¥M; how else could the P10 end?! What is the s'8 3 question?!®

2. Can we ask the same question on ¥"™ 1"77"7; why does the 7710 repeat the ruling
that the »131% 191 works 2217 niw 7v?”

6 See w"wN.
7 See mwn nNom.
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